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Q1. FIND THE ODD ONE OUT fas# T«
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Q2. What was the day of the week on 17 Apr
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Q3. FIND THE WATER IMAGE OF CLOCK AT 2:47 AM
WWl‘j 1% 30 { | ey~ gO’

1. 2:43

(#: 90
2. 3:43 (8:30 ) . “
3.4:45 i A K &5
4.4:43

=)
\—__/




Q4. Find out the alternative figure which contains figure (X)

asutspartﬁwmmmm AT &
Tcr:ﬁram:i?r(X)%l

- zﬂ

(% 3, 4.




Q6. FIND THE OPPOSITE OF FACE (5%¥ 5 & fauiild @)




Q7. In a certain code language?
'keep it up' is coded as jip fit cdk’

*smile always nicely)is coded as 'ﬁk/sew i
(‘Ishes ehavek/nicely always')is coded as 'eik kil fik(mip
pily keep always' is coded as ‘fit fik nid'
FIND THE CODE FOR BEHAVE :
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Q8."If it does not rain throughout this month ,most farmers would be in trouble this

year“"anws'\trq'lﬂ%’lﬁmﬁaraé’re'é a’rwm—amﬁram’raﬁ
Qe geft

Assumptions:

iTimel y rain is essential for farming “— diQE g t‘/’{‘
2. Most farmers are generally dependent on rains o
HROTU:

1. @t & T gag W aifter &
2. AOFAN FAET 3MACR W aier ov A g &

A) Only1istrue
B) B)Only2istrue
. C) C)Either1or2istrue

"TT——_P) D)Both1and2 follow




Q.9 If ‘cook’ is called ‘butler’, ‘butler’ is called ‘manager’, ‘manager’ is called
‘teacher’, ‘teacher’ is called ‘clerk’ and ‘clerk’ is called ‘principal’, who will teach in a
class? IfE THBAT A 'qeaT, 'Tea’ I Ao, A F Ty, T
I ‘Foad' IR 'Fae F AR Fgr sw, A FT geTEIT THF TH?

(A) Cook
(B) Butler

(C) Manager
(D) Clerk), _—
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Q10. QUESTION AND ANSWERE

Statements:

All Quagmires are Digital

No Digital is Government

All Government are Dumb
Conclusions:

I. Some digital can be Dumb

Il. All Dumb can never be Digital
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Only 1 is true

B) Only 2 is true

C) Either 1 or 2 is true
D) Both 1 and 2 follow




Q11. If A x B means A is to the south of B; Q11. If& AxB&HT 31X § A, BF gfayor

A + B means A is to the north of B; ﬁ'% '
A % B means A is to the east of B; A+ Bl 31'21'%‘A B?Wﬁ'%,
A - B means A is to the west of B; A%B&H HT ¢ A, Bﬂ?tﬁ'ff%
theninP % Q+R-S, S is in which A-BHT 7S § A BF TREF & &t
direction with respect to Q? P%Q+R- SH, QF Hegdl # sfFry
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T3 No v, A) South-West Y ¢ @ +R —C
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Q12. FIND THE NO OF TRINGLE
Sl
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Q13. FIND THE NO OF RECTENGLE
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